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Lesson 7.4 ~ Using Substitution to Solve a System of Linear Equations

The second of three methods is substitution. We will solve for a variable in one
equation, and then substitute it into the second equation.

Substitution Steps:

1. Solve for one variable from either equation (it is simplest to select the variable
whose coefficient is one).

Substitute the result from step 1 into the other equation.

Solve for the remaining variable.

Substitute known value into either original equation and solve.

Verify the solution.
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‘Exomgle #1: Solve the linear system and verify the solution.
® 3x+y=3

® 7x-2y=20

© 3x+y=3
-3 ~3x
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v=-3x+3 —> @ 7x-2(-3x+3) =20
T Abx -l = 20
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ly=-3
verify: O 3(2)+ (-3)=3 @ 7(2)-2(-3) =20
b -3 =3 Y + b =20
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Example #2: Solve the linear system and verify the solution.

® x-6y=4
@—2_x+y:—8
o I"(D}f =Y
xX=byrd —> @ -2(by+4) +y = -8
*lZy—/B/-l—-y e -1
-y =0
xX=b(o)+He— Yy >0ol
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1fy: @O Y-6(o) =Y
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® -2(w)+0 = -8

Example #3: Solve the linear sysTem and verify the solution.

1 4 :
O(Ex"§y=—2>"'° = B¢ ~ By =-20
@(}’=j}x—g>x8 = By = 22<-3
® 55 - (2x-3) = -20 @y =3(28)-

51—2xt§=——_2(3> \/:._'2_2’%

2% y= -4e -a

verify: © +(B2)-4(8):-2
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